A B AL CH A ) —

250

S

=
1 4 | BREK 1A
AAL - BEFL AR | mF0 2 £ 8 A 6 H T 2 Bf 00 5
B o4 % #F 1 || 2 ] TAKE
HIRALIR PR SLATSUS [R5
BRAEAET 7744 LRI 3T [R5
PR AR L SLATE ST REIR
PR EHNLN S Y7 — 819, 200
IR I L B
A7 —  BLATRIRU TEIE
HIREAE 5 B
TR RO A T3 890, 000
FIREAL 1 B b L 824, 900
PR H T LA TEIE
TR B
AAF AT —GREH SLATE 2T 1, 000, 000
RIS GRS FER
SLATEERT R A A B
R R 2 REIR
HABAAEDIRS ALFIE 810, 000 HTE
51| B B R A TR B R
HIRA AL B S A TR
YT YD SRR AL AT 829, 200

(JE) =

NS
R
\%?]‘i.

N7

UT10% A - D8 & INGE L 7z &5 p B Lo AfLlE Th 5.




